| Efficiency vs Dxy |

0.5
<

S
A J L] RN A S e O e ottt o
B4t R S SR
Q C E
@ .35 TR R e s
T _E :

O e e S S s eee
0255 TS T O S
0.2+ erivrertonnion | IS A T -
0TS L] S RN SRS SO e S ot s S
e e e T S
0J(1:] SE RN RS S S AN N SR S
.QJ-.l.Qfllll:lIII:IIII:IIII:III;III:IIII:IIII:IIII:IIII
qc_uo | A
@ L !

1_— ---------------------------------- I?II ----------------------------------

0.95

25 20-15-10 =5 0 5 10 15 20 25

TP dxy (cm)

Vi Ft_ XTMIMusNOPU TewDefauits

—=— D TR

o BT NN i specp et

ici mkFit_XiMinus efault_specPLess

| Efficiency vs Dz | | == 1B M mKEI-XIMInuSNOPU-NEWdefault-SpecPLess 3

1.2 —— DQM™mkFit“XiMinusNOPU~NEWdefault“specPLess4
N ; 7 T T

=

efficiency vs d

o
©

...................

o
o))

...................

0.4

...................

.....................................................................

.............

.............

...........

[ 5 ++*
.9_,_.\,@_' L1l : T : |+*|+‘F¢|+¢|*+| L | Lo
S r | s s
o : : : :
Rt ; | SR -
0936~ =10 0 10 20 30

TP dz (cm)




	Contents
	Page 1


